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14. Absolute refractive index of glass and waler is | - respectivel 4

the speed of hight 1n glass is 2 « 10" m/4, the speed of Light 1in wate:
£) Q F .
(A) . 107 nvs B 10)
1 )
, J o : -,
|-l: !-l
15. When a beam of white light passes through a region having very fine

dust jhn"[ii“{’h ”H‘ colour l)f‘]lj_’,hl I]l:ilﬂi"‘. sceattered in !?:.H regon 1s
(A) Red B) Orange

(C) Blue (1) Yellow

14-31/4/3 9 PT




w Questions numin

Wsvertion fA) and the aofher

r 17 to 20, two stalements are given — ONe labelled as

labelled as Reason (R). Select the correct

swer (o these que gfions jrom the codes TA), (B), (C) and (D) as groen
plou

}I T 1 i |" T I 1 i I‘ .1_x|
( Assertion (A

B Botl rtion (A) and Reason (R) are true, but ks F nol
i ' 11100 f'l.f ."1'-'~-I-E'Tj"rﬂ A

( Agsertion Ali1s trod but }{1-;; 20T ]‘{l]-] 1184

D) Assertion Al 18 false but Reason (R) 18 true

Assertfion (A

Reason (KR

Assertion (A)

I8,

.'l?rrl L H' .
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o . = :
(xvgen 18 essential {or :1“ aerobic jorms oOf 1

Free oxveen atoms combine with molecular oxvgen to
¢ Y

form ozone
Magnetic field lines never intersect each other

If they intersect, then at the point of intersection, the
compass needle would point towards two directions, which

is not possible.
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rhe extraction of me 1als from their sulphide oF

14 s aucrtion (A
Ll plac witheoutl roasting ol the are
R n (] Roasting converis ulphide ores divectly into md tals
() | iion A In rhe human heart ventricles have thicker j|]'|J--i'l.1h-1'
" @rfiie 14
walle than atrid
Reason (R Ventricles have Lo pump thé blood into various Organs

SECTION B

&
¢

Oussticns ne. 21 to 86 are VEry SHOTY GNSWEr Ryp questions

d to water the seil in plants on a regular basis But it

:-f]. &) \.‘\( et
hes the leaves of the plant. Explain how this takes

I]i-‘.!l”l-'l“l t‘.' refct
: 3
i..il.-:]- (e :
OR
(h) Name the type of nul rition exhibited by Amoeba. Explain how food
is taken 1D and digested by this grganism 2
22. When a soap ¥ dissolved in water, the soap molecules form structures
What are these structures called 7 Draw a labelled diagram of these
)

siructures

as taken in a clean and dry test

23. (a) 1 gram Of solid sodium chloride w
tube and concent rated sulphuric acid was added to it
(i) Name the gas evolved in the reaction.
(i1 What will be observed when this gas is tested with (1) dry,
and (IT) wet blue litmus paper 2 Write your conclusion about
the nature (acidi¢/basic) of this gas. 2
OR
(h)  Some metals react with acids to produce salt and hydrogen gas.
[llustrate it with an example. How will you test the presence of
9

this gas 7
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yw equal genetic contribution of male and female parents 18

{8

Explain he
ensured in the progeny

What would have peen the colour of the sky, if the Earth had no
to justify your answer. ¥

atmosphere ? Give reason
Caleulate the resistance of a copper wire of length 1000 m and area of
cross-section 2 mm?. Resistivity of copper is16x107°Qm. 2

SECTION C

O estions no. 27 to 33 are ghort answer type questions.

orm power of accommodation of human eye. Wha
in the eye when we increase the distance

Define the t t happens Lo
of an object

the image distanc€

from the eye ? Name and explain the role of the part of human eye
responsible for it in this case. 3
Write chemical eguations for the following reactions, giving the

3

conditions for the reaction in each case !

(a)  Reaction of ethanol with ethanoic acid

(b) Reaction
(c) Formation of ethene from ethanol

of an ester with a base (NaOH)

A student fixes a sheet of white paper on a drawing board. He places a
bar magnet in the centre of it. He sprinkles some iron filings uniformly
around the bar magnet. Then he taps the drawing board gently and
observes that the iron filings arrange themselves in a particular pattern.

(a) Why do iron filings arrange in a particular pattern ?

(b) What does the crowding of iron filings at the ends of the magnet
indicate 7

(¢)  What do the lines, along which the iron filings align, represent ?

(d)  If the student places a cardboard horizontally in a current carrying
solenoid and repeats the above activity, in what pattern would the

iron ﬁlfngs arrange ? State the conclusion drawn about the
magnetic field based on the observed pattern of the lines. 3
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wcpuiation for the reactitdd vhen walber reacts with { () .0
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reproduction N Mydra by budding. Nams

ri ]Ifillji'l|rllfl 11l Lhil proci

OR

(h) List two roles of cach of the following 1 human

ysLlem

t Qeminal vesicles and prostate gland

(n) {Oviduet

(ity)  Testis

3. Differentiate between biodegradable and non biodegradable wastes, We
generate a lot of non biodegradable wastes in our daily life. Write any
LWo I““”’T”] ellects caused j"_'-' these wastes il not 1.1i."!ii1m~li oll l!!'q.l'[H'T'l'\ 3
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SECTION B

i atiarin o S to 86 oo fong T e LA Ly n__,rn'.._.,-‘iuu:

J4. la) (1) Dofine reflox  are Why havi reflex  BYes evolyved 0
animals 7 Tract (the sequence of events which octn, whin

you suddenly touch a hot oly¢et,

(iil Naime the parl of nervous system which belps 18
crnm:n:_um"r;t.irm between the ©f alral pervous pysLeimn and

of the bady What &

e the two (:“I.np””r_;]ﬂﬁ-; of this

o

other parts

gystem 7

OR

(b) 1) Leaves of ‘ehhui-mui’ plant begin to fold up and droep in
Name the stimulus and write the

to a stimulus.
is there any growth

responee

cause for such a rapid movement.

involved in the movement ?

(i) Define geotropism in plants. What is meant by positive and

negative geotropism ? Give one example of each type.

(a) What is a chemical reaction % Describe one activity each to show

that a chemical change has sccurred in which (i) change of eolour,

and (i) change in temperature has taken place.

OR
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1 (1] fesurm Ry i 1= 1 i !
| pach olther Justif thii ! I '
b |.|!-;-_!|_-||| I
v state laws ol refl ction of Lhight
$ - - % f {
L1i) An object of height 50 em placed st 167 ¢y L AT A
concave mirror of foral li fngth 10 cm At what | iTtD
i 1 = i i g
the mirror should a screen be places ' { ocussed
Lol the 1ImBeEs Lt

image is obtained on it ? Find the heiih
OR

(1) State laws of refraction of Light

{11} Draw a ray diagram to show refraction of a ray of light

through a rectangular glass slab. How is the emergent ray

related te incident ray ? Mark lateral displacement in the

-1

diagram
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SECTION E
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G Key

On the basis of thizs circuit, answer the following questions:

(a) Find the valie of total resistance between the points A a nd B I
(bl Find the resistance between the points B and C. !
fe) (i) Calculate the current drawn from the batiery, when the key
is closed. 2
OR
(¢) (i) * In the above circuit, the 16 L resistor or the parallel
combination of two resistors of 8 €, which one of the two will
have more potential difference across its two ends 7 Justify
2

yOur answer.
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Kidney

{ ' : e present 15
1) Name the ¢ln ter the thin wialled hlood capillanes pres i
I
Lhe Bow mnn's Chpeule
stores urine, 1s
(h) Ly i““ll-'»i'l ORCrelory syvatom name {he organ which stores u
S 2 I
this organ under hormonal control or nervous control
> ; " urine and
Le \1) Liat two major Hlops involved in the formation of u
; )
state i braod their functions.
OH
. . ; y 1aae eelective reabsor taon
() (11) In which part of the nephron dog selectl !

' ' ; - water
take place ? List the factors which the amount of watk

reabsorbed depends on.
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